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According to whom will he establish our Mishna - 77 92 38722 P N%INR

Overview

X995 17 asked 2R, according to 7127 (who maintains that by 01p (according to °27
T8n), there is no n"2%p, rather he is 0>wm nn), how will he explain our mwn?!
mooIn clarifies this question.

nvoIN asks:
= 11991) NO9 2499 1YY HVUPIN NN

It is astounding! The difficulty is with 2''9 himself -
= 2599599 NAN) N9 NN IINT N9 (3,75 91 DYDY 92D 1NINY

For previously he agrees with 1739, for "1 ruled; he had a stolen cow in his
possession, etc.

An additional question:
= 3NDIYD NIWILT NYP TIN

And there is an additional difficulty, let us answer that 727 will establish the
TIwn as KW did -

Moo responds to an anticipated difficulty:
= 199909 PINY NPPYHN 229NT WIPY YWD 920D INT YDV IPA WIDYT INNY

For this which >''w= explained that if 727 agrees with ®''2 that nvph» s2»n

AN are exempt from payment -
= SRDIWIN ND9T 19w Yo

727 will certainly disagree with X% (who maintains by npm 11 that 712 1R 2own) -
- YIPY YWY 920 NN 1NN NAYT AN 1IN M

This (which >"w" asserts that 727 disagrees with X71) does not appeal to msoin,

! See our X3 that it cannot follow n"9 for 102 X°wp, it cannot follow 7377 12 1" for 1MAR X°wp, and it cannot follow
PnY> ' because NN ROWP.
2 A person stole a cow (during the week) and he slaughtered it on naw, the rule is (according to both 7727 and 9"7)
that he is 211 for "M "7, since he was 211 for the 77p before naw, and on Naw he only added the liability of '™ '7, which
is a o1p, and by oip there is no n"1%p. Therefore, the same question, which is on 7127 applies to 9" (who is
challenging 7727) as well! Why is he asking on 721?!
3 X9 on X,2% maintains that when there is a mp%» 21 and money, he pays, but does not receive np».
458 X9X 71"72 °"w1 explains that if 727 would follow the view of "7 (that 7w Paw nvphn *2»n), he could not
establish the mwn like anyone else and surely not like R7Ww.
5 %"9 maintains that even AN N1p?R 270 are P1PWNR WD (even though no Mp?» was actually administered), and
therefore P nphn 270 are certainly Pws.However, according to X7 when there is mpom1 1, one pays
money! According to this *"w", it is obvious that 737 disagrees with X7, and cannot establish the mwn like X?1w.
However, m»aoin disagrees with *"wn.
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because perhaps by ‘other money’® he agrees with »'' -
= 7HNN HNNT DY NN MPYHRN Y09 PN BIYN N9 RNDIN NINNAT N)INNA AN

However, for money which he is liable for the very same act (for which he is 21
mpon), like the MmpHn and o1p for "MK ¥ X2, in that case 727 can agree with X9
that he pays money and is exempt from nipb», based on the @''ts of nnn nnn —

n190IN answers:
= 8119999975 NRDIPTD 99U d81) WIPH WD 920 1D9ON NS 297 AN

And it appears that 5''9, even if he agrees with »''2 (that [even] 73w n1phn *20n

are PWD), can establish the 7w like 87 does, as I just explained -
- 10N359AN NYITY DNN D599 71 RNT XIWT 159 11997 9959Y 7999 »aNY Yax

However, "1 properly challenges 2R, since »ax disagrees with X%, for he

utilizes the word nnn for another 7w97, not for the w"rx of nnn nnn, which teaches us
(according to X?1¥) that 717 2R own -

£ 2PN INND PNINN YIPY YWD N XD IN 1D NIV 9970
So therefore (since »ax disagrees with 71), 5" had this difficulty; if 727 agrees
with »''1, according to whom will 727 establish our ;7aw.

Summary
5" (even though he agrees with 7127 that by 01p there is no 12"2%p), can establish the

mawn like X9 (based on the nnn nnn w"a), however according to 2k (who argues
with X91) how will 727 establish our 7mawn if he agrees with 5.

Thinking it over
Why can we not answer that "7 did not ask on himself, since he agrees with >,
however he was unsure whether 721 agrees with "1 or with 5"1?!!

6 ‘Other money’ means money which he is liable to pay for a different transgression; not associated with the mpon
transgression. For instance, while he was 1mnx 2y 82 (for which there is a npon 21°1), he ripped her clothes. The 21n
1M1 is separate and distinct from the mpo» 2m; it is "R P’ In this case K27 agrees with "1 that he is 7Ww» from
paying on account of #"27p (even if it was a3 w2 where there is no actual NpPon).
7 See the X m3 on the top of 2,3%. This w" enables us to differentiate between X 177 (the case of 2", where he
does not pay) and 93 KNP X°7727 X1Mn (the case of our mwn, where he does pay). The question remains why
cannot 7721 establish the mwn like X9W.
8 See footnote # 7.
% 5"1 was actually asking the question on 7127, he merely posed it to »ax. However, it seems from N0 that 5" was
asking »ax, according to you, who disagrees with 21, how will 727, establish our 73w (unless he agrees with *").
10 x,3%. The (only) reason X7 maintains that 72 X1 09w (in a case of 71 IMK), even though he agrees with 7"
that by anX 17 the rule is that (even) 133W NYpPYn %21 are D2WHn 1MW, is because of the nian nin w"r. However,
since 2R does not accept this w"1, he (obviously) disagrees with X?W, and cannot make this distinction.
' See ov1w» moon here.
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